
Relaciones Inversas (D)
Llene los espacios.

14 × 10 = 140 25 × 20 = 500 12 × 14 = 168 22 × 12 = 264
___ × 14 = 140 20 × 25 = ___ ___ × 12 = 168 12 × 22 = ___
140 ÷ ___ = 14 500 ÷ ___ = 25 168 ÷ 14 = ___ ___ ÷ 12 = 22
140 ÷ ___ = 10 ___ ÷ 25 = 20 168 ÷ ___ = 14 ___ ÷ 22 = 12

15 × 25 = 375 25 × 15 = 375 10 × 24 = 240 10 × 19 = 190
___ × 15 = 375 ___ × 25 = 375 ___ × 10 = 240 ___ × 10 = 190
375 ÷ 25 = ___ 375 ÷ ___ = 25 240 ÷ 24 = ___ 190 ÷ ___ = 10
375 ÷ ___ = 25 375 ÷ 25 = ___ 240 ÷ 10 = ___ ___ ÷ 10 = 19

24 × 18 = 432 24 × 15 = 360 18 × 17 = 306 17 × 13 = 221
18 × ___ = 432 15 × 24 = ___ 17 × ___ = 306 ___ × 17 = 221
432 ÷ 18 = ___ 360 ÷ ___ = 24 306 ÷ ___ = 18 ___ ÷ 13 = 17
___ ÷ 24 = 18 ___ ÷ 24 = 15 306 ÷ ___ = 17 ___ ÷ 17 = 13

17 × 15 = 255 20 × 19 = 380 21 × 23 = 483 24 × 21 = 504
15 × 17 = ___ 19 × 20 = ___ 23 × ___ = 483 ___ × 24 = 504
255 ÷ ___ = 17 380 ÷ ___ = 20 483 ÷ ___ = 21 504 ÷ 21 = ___
255 ÷ ___ = 15 380 ÷ ___ = 19 483 ÷ 21 = ___ 504 ÷ ___ = 21

20 × 19 = 380 15 × 13 = 195 10 × 22 = 220 18 × 21 = 378
19 × 20 = ___ ___ × 15 = 195 22 × 10 = ___ 21 × 18 = ___
___ ÷ 19 = 20 ___ ÷ 13 = 15 ___ ÷ 22 = 10 378 ÷ 21 = ___
380 ÷ 20 = ___ ___ ÷ 15 = 13 ___ ÷ 10 = 22 378 ÷ 18 = ___
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